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Note : (i) Question No. 1 is compulsory

(it) Attempt any five questions from
questions no. 2 to 8.

(iti) Draw well-labelled diagram wherever
necessary.

1. (a) Fill in the blanks : 1x5=5

[6) I 1s a specialized wall
thickening present in the endodermal
cells of roots.

(11) The wood of Pinus, mostly composed of
tracheids and parenchyma is referred

P.T.O.
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(iv) Coir fibres of commerce are obtained
from ......... coconut fruit.

(v) Brassica oleracea var capitata is a .......
vegetable.

(b) Define the following : 1x5=5
(1) Lodicules
(1) Parthenocarpy
(111) Diploxylic vascular bundles
(iv) CTC tea
(v) Karyopsis

(c) Match the items given in Column A with
those of Column B : 1x5=5

Column A Column B

(1) Xylem vessels (A) Asparagus

(11) Cladode (B) Santalum
album

(111) Cashew (C) Piper nigrum

(iv)  Perisperm (D) Gnetum

(V) Semi-parasite (E) Anacardium

occidentale

2. Differentiate between the following (any three) :
4x3=12

(i) Embryogeny in Pinus and embryogeny in
Gnetum



3.
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(i1) Sclerenchyma and Collenchyma

(111) Floral characteristics of Malvaceae and

floral characteristics of Solanacease.

(1v) Fruit of Foeniculum vulgare and fruit of

V)

Myristica fragrans.

Tuber of potato and tuber of sweet potato.

Write short notes on any three of the following :

(a)
(b)
(©
(d)

(e)
(a)

(b)

(a)

4x3=12
Parasitic plants
Lateral meristem
Morphology and anatomy of Cycas leaves

Medicinal importance of Digitalis purpurea
or Atropa belladonna

Economic importance of sugarcane

Write a note on the mechanism of
pollination and fertilization in Pinus. 6

With suitable diagram describe the distinct
floral  characteristics and  economic
importance of family Myrtaceae or
Rutacease. 6

Give the scientific name, family and
various uses of any two edible oil yielding
plants. 3+3

P.T.O.



(b)

(a)

(b)

(a)

(b)

(a)

(b)
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Describe the various methods of extraction
of essential oils. 6

Discuss briefly the processing of tobacco
leaves to obtain tobacco of commerce. 6

What are complex tissues ? Briefly describe
the various components and functions of
any one complex tissue. 1+5

Write a note on the economic importance of
gymnosperms. 6

Comment briefly on any six types of the
leaf modifications. 6

Elaborate on the botany and uses of an
economically important legume. 6

Describe in detail the harvesting and
processing of tea. 6
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(G O ® W Aqarst gET 9
S

(iv) arforfcorer SU=mT & 1 W AfEs &
TBA Bl v ¥y fepd W 2

(v) sfberr ofiferfyren fFm &hfuder
........... Tosit 2

frefafed w1 aftfiya wifsa e 1x5=5

() difeRd

(i) SAFTREHe

(iii) fgaresn Heed g

(v) FAH 5=

(v) siafes

wem A ¥ fau U #e o1 wiem B H iU

N A 9 fgam wifse . 1x5=5

FieH A i B
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2. frafafes 4 9 f5= 99 & 9 o= fafau .

3.

4x3=12

() uETE H Yuigyd 3R Ffiew ® yuiged

(i) e 3R yeuds

(i{i) ATeEE & YoHE O SR WoHE & Yo
a0t

(iv) wIgFeRem Tt &1 hal iR fufifeenr
IR &1 T

(v) 3Tl T 3 3R IHIHST BT Hhs

frafafes & @ fFf @9 W @y fewforr
faf@T . 4x3=12
(i) oS

(i) e faveaae

(iii) ATZRT T T BT SR 3T IR

(v) fefeefam wagfar a1 g sarem &1
strwefia e

(v) T &1 A Hed

(a) uTEE | WU SR fu=E il fmataty W
foega fewmoft fafeu) 6

(b) IugF o=l o @ fHd Srgar w2t Ha
& Ug TN IR enfYf W @1 ouiA
e 6
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5. (a)

(b)

6. (a)

(b)

7. (a)

(b)

8. (a)

(b)
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frel a1 @R WG dd SARE Ul @
SRR A, wel qen fafe= swEm W

fafam| 3+3
arogeiiel (TY) dell o frsmsor &t fafa=
fafe=i =1 o wifsu) 6

AEHIIHh YA Kl TR T K h
fau daer, &t uftal & " w1 dfaa
Ui SifST) 6
Sfeet Sask @1 & ? fordt weh wifedt sas
& fafv= geesl 3R w@f &1 |k 9ol
ST 1+5
Seerd & ot wew@ W feoqof
fefe| 6
fFel ®: THR & U FO@Ol W AfEa
feoofi fafau) 6
fordl emfeier €9 ¥ #We Ui fTd (weieR
1Y) & aFefas TON SR STEr

faega auie &ifsa| 6
=9 HI HeE AR TSR 1 foeqga a0
hifeIu| 6



